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10th- (Mathematics)
LO Based NAS Questions-2021-22

( 10 Questios For BMs ) -2

1. AT A ABC ~ APQR , ar(ABC) = 64 cm?, ar(PQR) = 121 cm?,AC=16 cm 3% QR =......... )

If AABC~ APQR |, ar(ABC) =64 cm?, ar(PQR) = 121 cm2, AC=16 cm then,QR=........ .

(a) 11 cm (b) 24 cm (c) 18 cm (d) 22 cm

2. 799 A PQR~ ABCA W3 ~ P=70°, 2A=80° , ~ CU3"aJ |

If APQR~ ABCA and 2 P=70°, ~A=80° ,find2C.

(a) 30° (b) 70° (c) 80° (d) 40°

The probability of happening of an event lies between ........ and ....... .

(@) 1and2 (b) 0and1l (c) 2and3 (d) 1and3.

4. A P(E)=0.4 I=R 37 P(E)=......... .

If P(E)=0.4 then P(E) = ......... .

(a) 0.6 (b) 0.8 (c) 0.96 (d) 0.9

5. © Odd ASEIAH g I6 Aag 857 2 ... HITHd JE

Two circles are congruent if their ......... are equal.
(a) W™ few™A (radii) (b) WU (circumferences)
(c) few™ (diameters) (d) fes? fST 7S (all of these)
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6. BT UR § Hez InzA At wrEE St Hges SR |

Find the probability of getting a prime number on throwing a die.

(a) 1/2 (b) 2/3 (c) 1/3 (d) 1

7. 35 fafimit &9 faoz dedt Yfeast e Hu sdi I Aaer?
Which of the following is not a measure of central tendency ?

(a) ﬁWW(Range) (b) HOH'S (Mean)

(c) Hfaar (Median) (d) SIS (Mode)

8. MFTE 2% +kx +3=0 @ THSANG IS, I kT YS At J=arr 2

The equation 2x2 + kx + 3 =0 has two equal roots , what is the value of k ?

(a) V6 (b) 4 (c) £3V2 (d) +2V6

9. AAT px’+qx+2=0 THS BITAI T EBqH I= I*:

If the roots of px? + qx + 2 = 0 are reciprocal of each other then :

(a) p=0 (b) p=-2 (c) p=t2 (d) p=2

10. ffa WA aguT 3" a3 fAAEmMi fAga - 43 -535 |
Find a quadratic polynomial, whose zeros are -4 and -5 .
(a) x?-9x+20 (b) x2+9x+20

(c) x2-9x-20 (d) x*+9x-20
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